
R
=(

1-
2)

*Ø

0
.5

Ø

R
=(1-2)*Ø

0.5Ø

D

Ø

Ø

R
=(

1-
2)

*Ø

R
=(

1-
2)

*Ø

m
in

 5

0
.7

Ø

Ø

D100;1
25

Ø
Ø

1
5

1
5

1
5

Ø
1

5

H

d

2
5

ju
k
h
u

, 
y
ru

n
h

u
,

H

2
5

2
5

2
-D

/2

6
0

-1
0

0

2
0

5

5

..

2
5

2
515

4
0

1
0

;2
5

d=60

n
p

k
 j
h

m
u
b

h

ju
k
h

u
, 

y
ru

n
h

u
,

D

6
0

-1
0
0

5

2
5

20

5
2

0

2
-5

Ø/2+1033.5

2
5

2
5

1
2
.5

2
5

7
5

;1
0
0

2
5

15

3
0

4
0

5

5
+

(Ø
-Ø

`)
Ø

`

5
Ø

50
.5

Ø

0
.7

Ø

D

15d

2
0
-3

0

Dd=60

2
0

-3
0

2
0
-3

0

5
120

2
0

0 120

D
1

D
2

D
3


